Chapter 2
Trigonometric Functions |l
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Fig. 2-1: Sec function in the interval —2m < x < 2 illustrated.
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Fig. 2-2: Cosec function in the interval —2m < x < 2 illustrated.
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Fig. 2-3: Cot functionin the interval —2m < x < 2m illustrated.
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Fig. 2-4: Solution to Example 2.
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Fig. 2-5: Solution to Example 3.
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Fig. 2-6: Arcsin function in the interval —1 < 8 < 1 illustrated
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Fig. 2-7: Arccos function in the interval —1 < 6 < 1 illustrated

Cos - Arccos
35z -
xX i
(7] -
o]
S
5
x
[7,]
o
(8]
..... y —_— x
1.0 4
0.5 1
-2 -1 1 Al
-0.5
X, COSX
-1.0



http://www.dszak.com/

Fig. 2-8: Arctan function in the interval —co < 0 < o illustrated
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Fig. 2-9: Solution to Example 5.
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Fig. 2-10: Horizontal translation of sine function with a phase angle of 60° illustrated.

Translation (Sine Function)
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Fig. 2-11: Horizontal translation of sine function with a phase angle of 10° illustrated.
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Fig. 2-12: Vertical translation of cosine function at 1 unit illustrated.
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Fig. 2-13: Solution to Example 7(a).
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Fig. 2-14: Solution to Example 7(b).
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Fig. 2-15: Vertical stretch of sine functionwithn = 1,n = —1,n = 0.5, and n = 2 illustrated.
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Fig. 2-16: Horizontal stretch of cosine functionwithn = 1,n = —2,n = 0.5, and n = 3 illustrated.
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Fig. 2-17: Horizontal stretch of sine functionwithn = 1,n = —1,n = 0.5, and n = 3 illustrated.
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cosecl

Fig. 2-18: Solution to Example 8.
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Secx

Fig. 2-19: Solution to Example 9.
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Fig. 2-20: Solution to Example 10 - Part .
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Fig. 2-21: Solution to Example 10 - Part Il.
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Fig. 2-22: Solution to Example 10 - Part lil.
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Fig. 2-23: Solution to Example 11 - Part .
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Fig. 2-24: Solution to Example 11 - Part Il.
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Fig. 2-25: Solution to Example 11 - Part lil.
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Fig. 2-26: Solution to Example 12 - Part .
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Fig. 2-27: Solution to Example 12 - Part Il.
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Thank Yow
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